TeleflexGF/

Ersatzteilliste
Articel No. Description
TF 675 Filler Kit Bayonet 908 New T
TF 677 Filler Kit Bayonet Straight Ne
TF 680 Filler Kit Belgium Straight
TF 681 Filler Kit Belgium 908
TF 686 Filler Kit France 908
TF 690 Mountingkit Gasstart For Engin
TF 695 Fillerkit Acme Angled 908 Flus
TF 927 Tanksstages 29X1,5Mm 135Cm, 2
TF 1347 Tieplates
TF 1434 Tank Bracket Toyota Picnic 57L Ic
TF 1447 Tank Frame Seat Ibiza 47L Ring
TF 1450 Tank Frame 406 Sdn 56L Ring Sw
TF 1489 Tank Bracket Ford Galaxy 5
TF 1569 Tank Bracket Aerodeck 47L Sw
TF 1577 Tank Bracket Citr. Picasso
TF 1589 Tank Bracket Evasion 53L Un
TF 1591 Strengthen Strip Xsara Break
TF 1594 Tank Frame Kia Rio Sdn/Wgn 56L
TF 1599 Tank Frame Skoda Fabia 5D Hb 01
TF 1604 Tank Frame Kia Magentis 53L Sw
TF 1614 Tank Frame Peugeot 307 Sw 53L U
TF 1627 Tank Bracket Citroen C8 67L Un
TF 1629 Tank Bracket Kia Sorento 67L Un
TF 2080 Vaporizer Bracket 306
TF 2144 Vaporizer Bracket Civic 5
TF 2155 Vaporizer Bracket Ibiza/Cordoba
TF 2163 Vaporizer Bracket 406
TF 2168 Vaporizer Bracket Acc. Airco
TF 2232 Vaporizer Bracket Honda Shuttle
TF 2253 Vaporizer Bracket Berlingo/
TF 2261 Vaporizer Bracket Kia Pride
TF 2271 Vaporizer Bracket Toyota/Corol
TF 2506 Replace Petrol Tank G Vitara "0
TF 2507 Replace Petrol Tank Gr Vitara 5
TF 3504 Standard Tank Frame 60/30L Spl
TF 3508 Standard Tank Frame 70/32L Spl
TF 3519 Standard Tank Frame 85/36 Tv
TF 3600 Std. Vaporizer Bracket 4Po
TF 10160 Vaporizer Ag-2000-H (> 90 Kw)
TF 10180 Vaporizer Ag-2000 Hh 19Mm (V6/
TF 15650 Lpg Shut-Of Valve Export 67R-0
TF 15740 Lpg Shut Off Valve Med 67R-01
TF 15741 Coil Lpg Shut Off Valve Med
TF 15850 Petrol Shut-Off Valve Export
TF 15870 Vacuum Shut Off Valve
TF 15890 Petrol One-Way Valve
TF 20241 Auxiliary Springs 307 Sw/Break

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41
47506 NEUKIRCHEM-WVLUYN
- ) PHOoNE: +49 (0) 2845 207729
d Fax: +49 (0) 3212 pDRIVE 99 ODER +49
r‘vean save (0) 3212 37483 09

MoBIL: +49 (8)}163 733 58 11

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME



TeleflexGF/

Ersatzteilliste
Articel No. Description
TF 20303 Float Gauge For Cilindr. Tank
TF 20306 Float Gauge For Cilindr. Tank
TF 20307 Float Gauge For Cilindr. Tank
TF 20310 Pick Up Optical
TF 20311 Float Gauge For Ring Tank 47/51
TF 20313 Float Gauge For Ring Tank 57/62
TF 20318 Pick-Up For 20325/20335/600151
TF 20325 Fuelindicator-Kit
TF 20334 Fuelind.Switch With Diagnostic
TF 20335 Fuelind.-Kit With Diagnostic L
TF 20339 Pick-Up For 0-95 Ohm
TF 20352 Float Gauge For Ring Tank 650 X
TF 20354 Float Gauge For Ring Tank 650 X
TF 20619 Tank Barrel Type +80% + H-Kopp
TF 30151 Rubber For 30300 Mix. Unit (Op
TF 30161 Rubber For 30600 Mix. Unit (SI
TF 35114 Flare Cap Nut 6Mm 1/4
TF 35115 Flare Cap Nut 6 Mm 7/16
TF 35116 Flare Cap Nut 8Mm-1/2-20 Unf
TF 35141 T-Piece Clampcoupling 8 Mm
TF 35150 Clampnut 6Mm
TF 35154 Pipe Connection Coupling
TF 35160 Connector 5/16 X5/16" Flare
TF 35162 T-Piece 1/2Flare Fillerhose
TF 35165 T-Piece 1/4 Flare 6Mm Pipe
TF 35167 Connector Shut Off Valve 10Mm
TF 35168 Elbow Conn. 3/8 X 3/8 Vap-Shut
TF 35175 Connector 1/4 Npt-1/2-20 Unf
TF 35181 Connector 5/16 Flare M10X1
TF 35182 Elbow 1/2 X5/8" Flare
TF 35186 Elbow Shut Off Valve 10Mm 1/2-
TF 35303 Vacuum Connector 6 Mm.
TF 35337 Ag Water Connector Straight 10
TF 35339 Ag Water Connector Straight 16
TF 35341 Ag Waterconn. Angled 908 16 Mm
TF 35375 Pressure Gauge Completeete 0-1Bar
TF 35376 Connector For Pressure Gauge
TF 35380 Connector For Pressure Gauge 0
TF 35386 O-Ring Hansen Coupling
TF 35506 80% Fill-Stop Ring Tank H=200/2
TF 35514 Cap For Acme/France Filler 35
TF 35521 Insert Housing Quick Filler
TF 35522 Quickfiller Flat Incl. Bayonet
TF 35525 Rubber Cover 908 For 35546
TF 35528 Rubber Cover Straight
TF 35529 Adaptor For 35528
TF 35532 Flange Quickfiller Old Type

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41
47506 NEUKIRCHEM-WVLUYN
- ) PHOoNE: +49 (0) 2845 207729
d Fax: +49 (0) 3212 pDRIVE 99 ODER +49
r‘vean save (0) 3212 37483 09

MoBIL: +49 (8)}163 733 58 11

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME



Articel No.

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

35535
35536
35537
35539
35542
35546
35547
35551
35555
35556
35557
35570
35577
35578
35580
35586
35588
35591
35592
35603
35605
35614
40014
40031
40036
40112
40115
40117
40118
40119
40130
40132
40133
40134
40135
40136
40137
40138
40139
40141
40142
40144
40145
40146
40147
40150
40165

TMeleflex-GF/
Ersatzteilliste

Description

Quickfiller Bayonet Straight
Quickfiller Bayonet 908

Cap (Square) For Bayonet Filler
Registration Platesupport
Lockable Cap For Bayonet Filler
Fillerhousing Incl. Cap Bayonet
Cap For Bayonet Filler New Type
Quickfiller Acme 908

Filling Adaptor Italian Type

Filling Adaptor Europe Type
Filling Adaptor

80% Fill-Stop 45/49L. Duotank
O-Ring For 35578 / 35555

Filler Adapt. Short - Flat Fil

80% Fill-Stop Uv D=270-360 52
80% Fill-Stop Ring Tank H=23-27
Coil 35591

Lpg Shut-Off Valve (Electrical)
Lpg Pressure Relief Valve 27
Copper Pipe 8Mm Roll 8Mtr
Copper Pipe 6Mm 50 Mtr
Reducingnipple Belgium 6Mm To
Terminal Honda Hecu With

Cable Eye Not Isolated 6Mm
Sicma 2 Connector Male + Wirin
Fuseholder Incl. Wiring
Installationpanel For Switch
Switch Excl. Choke Horizontal
Switch Excl. Choke Vertical

Hose Clamp 10-16 Mm

Hose Clamp 16-25 Mm

Hose Clamp 25-40 Mm

Hose Clamp 50-70 Mm

Y-Piece Ys4 Hose 4 Mm

Y-Piece Ys5 For 5Mm Hose
T-Piece Hose 8 Mm

Water T-Piece 12-16-12 Aluminum
Water T Piece 16-16-16 Aluminum,
Water T-Piece 20-16-20 Aluminum
Water Y-Piece 16-16-16

Water T-Piece 22-16-22

Water Connector 16-10 Mm
Water Connector 16-12 Mm
Water Connector 16-16 Mm
Water Reducing Connector 16-20
Hose Clamp 25,5 For 16Mm Lpg Hose
Crimpfitted Coupling 67R-01 8Mm

driveandsave

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41

47506 NEUKIRCHEM-WVLUYN

PHOoNE: +49 (0) 2845 207729

Fax: +49 (0) 3212 pDRIVE 99 ODER +49
{0) 3212 37483 00

MoBIL: +40 (8)}163 733 58 11



TeleflexGF/

Ersatzteilliste
Articel No. Description
TF 40170 Crimpfitted Coupling 67R-01 10Mm
TF 40179 Copper Pipesupport 8Mm(lIsolated)
TF 40180 Copper Pipesupport 10Mm(lIsolated)
TF 40196 High Pressure Lpg Hose 50 Cm
TF 40201 T-Piece 16-8-16 Mm
TF 40204 Extension Pipe Diam. 10
TF 40221 Main Adjuster Register 16 X 16
TF 40230 Calibre 35X16 6Mm Hole
TF 40239 Calibre Syntetic
TF 40247 Clampbracket 36 Mm
TF 40250 Self-Tapping Screw Cil Kop 4,8
TF 40251 Copper Pipesupport 9Mm(Non Isol)
TF 40252 Filler Hose Support 22 Mm
TF 40255 Gasket Inlet Manifold Sonata 20
TF 40259 Gasket Float Gauge
TF 40263 Injector Simulator 2 Resi
TF 40266 Support Spring For Waterhose
TF 40269 Ag Injector Simulator
TF 40270 Temperature Simulator Mmba
TF 40272 Temperature Simulator Mmba
TF 40276 Rpme-Filter, 2 Diodes
TF 40278 Rpm-Filter 2P-Amp
TF 40288 Injector Simulator 4-Cilinder
TF 40292 Additional Disconnection Group
TF 40296 Rubber Stop 8Mm X 15Mm
TF 40303 Petrol Start System
TF 40304 Vacuum Switch
TF 40305 Ag Safety Relays 3.5 Sec.
TF 40307 Safety Relay Universal 1.5 Sec
TF 40310 Relay ( 5-Pins)
TF 40315 Tie Wrap 200 X 3.6 Black
TF 40316 (*0) Ag O2 Simulator 3 Lev
TF 40323 Tie Wrap 368 X 4.8 Black
TF 40324 Tie Wrap 100 X 2.5 Black
TF 40326 Fuel Gauge Rekit Unit (330 Ohm)
TF 40327 Fuel Gauge Reset Unit
TF 40339 Digital Petrol Gauge Simu
TF 40340 Shut Off Valve 16 Mm In Lpg Hose
TF 40362 Std. Icu Semi Assembly
TF 40364 Rpm Adapter Honda
TF 40370 Wheel Cover 13" (61Cm)
TF 40371 Wheel Cover 14" (63Cm)
TF 40372 Wheel Cover 15" (69Cm)
TF 40373 Wheel Cover 51 Cm Limp Home Tyr
TF 40374 Wheel Cover 76 Cm
TF 40386 Fuel Gauge Rekit Unit (30 Sec.
TF 40403 Silent Block M8X18 68Sha

DRIVE AND SAVE GMBH B Co. KG
WiUYNER NORDRING 41
47506 NEUKIRCHEM-WVLUYN
= ) PHONE: +40 (0} 2845 2077290
Fax: +49 (0) 3212 pDRIVE 99 ODER +49
driveandsave

MoBIL: +49 (8)}163 733 58 11

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME



Articel No.

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

40413
40415
40420
40422
40423
40425
40426
40427
40428
40448
40450
40520
40521
40523
40524
40535
40600
40602
40651
40850
42245
42252
42275
42353
42385
42386
42387
42388
42389
42390
42391
42392
42394
42396
42401
45102
45104
45105
45107
45108
45110
45111
45113
45115
45116
45117
45124

TMeleflex-GF/
Ersatzteilliste

Description

Hexagonal Nut M5

Cylinderbolt M5X16

Hexagonal Nut M6 Galvanised
Hexagonal Nut M10 Galvanised
Bolt M6 X 16 Bolt Galvanised
Parker Screw 6,5X20 10Mm Head
Bolt M3 (Sensor Tankgauge)
Hexagonaltapbolt M8X25 Din 933
Hexagonal Nut M8

Threaded End M10 X 50Mm
25B24M M10X20 Allan Screw Round
Washer M6 Galvanised Din 125 A
Sheet-Metal Ring 8,2X40X2,0(M8
Sheet-Metal Ring 10Mm D=40Mm S
Washer, M8 (Din 125A)

Sheet Washer Ring M16X50X3
Threaded Connection Piece M6
Threaded Connection Piece M8X4
Injector Simulator
Microprocessor Mc68Hc711 E9 Ot
Drill For Plastics D=13Mm

Tap Kit M14X1

Jute Tape Roll 50 Mtr

Tyre Repair Kit

Hosecutter

Waterhose Clamp Tool

Cable Socket Tool (Unisolated)
Socket Wrench 7Mm Flexible
Hose Clamp Pliers "Oetiker"
Rippel Hose 8Mm

Rippel Hose 10Mm

Rippel Hose 12Mm

Rippel Hose 20 Mm

Rippel Hose 25Mm

Ag Box Small

Wiring Harness For Art. 5

Wiring Harness For 40305/
Wiring Harness Short For

Wiring Injectiondisconn.

Wiring For 40310

Framestrip, U-Profile 12Mm Bla
Adhesive Strip For Tank Frame /
3-Wired Cable Flat / 0.5 Mtr
Grumwith 09X11X16

Grum With Fillerhose

Shim 10Mm For Tank Frame
Shim 15Mm For Tank Frame

driveandsave

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41

47506 NEUKIRCHEM-WVLUYN

PHOoNE: +49 (0) 2845 207729

Fax: +49 (0) 3212 pDRIVE 99 ODER +49
{0) 3212 37483 00
MoBIL: +40 (8)}163 733 58 11



TeleflexGF/

Ersatzteilliste
Articel No. Description
TF 45126 Intermediate Wire Export Shut
TF 45140 Petrol Hose 6 Mm (Per Mtr)
TF 45145 Hose Carfuel E 8X3 Lpg/Petr. R
TF 45147 Lpg/Cng Hose 8Mm 67R-01/1Mtr
TF 45160 Vacuumhose 3.2 Mm (Per Mtr)
TF 45162 Extension Inlet Tube 65 X 100
TF 45175 Waterhose 15 Mm (Per Mtr)
TF 45180 Waterhose 19 Mm (Per Mtr)
TF 45185 Lpg 908 Elbow With Coat Inside
TF 45190 Breather Hose 30 Mm
TF 45192 Breather 30 Mm
TF 45196 Hose Connection 19 Mm
TF 45210 Lpg Hose 25 Mm (Per Mtr)
TF 45215 Lpg/Cng Hose 16 Mm 67R-01/1Mtr
TF 45410 Filler Hose 75 Cm R-R
TF 45412 Filler Hose 75 Cm R-H
TF 45420 Filler Hose 100 Cm R-R
TF 45422 Filler Hose 100 Cm R-H
TF 45430 Filler Hose 125 Cm R-R
TF 45432 Filler Hose 125 Cm R-H
TF 45440 Filler Hose 150 Cm R-R
TF 45442 Filler Hose 150 Cm R-H
TF 45450 Filler Hose 175 Cm R-R
TF 45452 Filler Hose 175 Cm R-H
TF 45460 Filler Hose 200 Cm R-R
TF 45462 Filler Hose 200 Cm R-H
TF 45470 Filler Hose 250 Cm R-R
TF 45472 Filler Hose 250 Cm R-H
TF 45710 Tule Aluminum M 32
TF 45712 Tule Copper Pipe + Wire
TF 45713 Rubber Tule Valve Cover Wvm
TF 50091 Modulator Ag2000 Incl Coll
TF 50103 Overhaulkit Ag-2000/Ag2000H
TF 50106 Coil (Idle Adj.) Ag 2000
TF 50151 Universal Vaporizer Bracket Ag
TF 58100 Gas Detector
TF 58125 Heat Shield Underneath Universal
TF 58143 Blow-Off Shield Charade '93
TF 58146 Heat Shield Accord/Rover 620 '
TF 58168 Heatshield Citroen Berlingo 52
TF 58220 Ag O2 Control-Unit E
TF 58250 Combined Petrolstart / Alc
TF 58320 Motorunit Euroflange Type
TF 58650 Dgc Computer
TF 58817 Heat Shield Agw-Engine
TF 75115 Short Adapter Without Plate
TF 75116 Short Adapter With Plate

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41
47506 NEUKIRCHEM-WVLUYN
- ) PHOoNE: +49 (0) 2845 207729
d Fax: +49 (0) 3212 pDRIVE 99 ODER +49
r‘vean save (0) 3212 37483 09

MoBIL: +49 (8)}163 733 58 11

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME



TeleflexGF/

Ersatzteilliste

Articel No. Description
TF 200345 Engine Kit Dgc E "5C"
TF 202000 Computer Bracket Universal
TF 210100 Spring 50 Gr L=28 For Dgc 2000
TF 210105 Spring 60 Gr L=28 For Dgc 2000
TF 210112 Backcover Dgc Type 2010
TF 210115 Filter Vaporizer Ag2010 (Dgc/D
TF 210200 Overhaul Kit Dgc Vaporizer Typ
TF 210201 Overhaul Kit Dgc Vaporizer 210
TF 210216 Vaporizer Dgc 2010 60Gr
TF 235276 Water Connector Elbow 16Mm Type
TF 245300 Wiring Harness Dgc
TF 245310 Black Wire 150 Cm 0.75Mm
TF 245311 Black Wire + Terminal
TF 258110 Diag.Cable Workabold/Pc
TF 258111 K-Line Convertor
TF 258112 Sgi Can-Log Cable Type 2 Ecu
TF 258150 Dgc Steppermotor, Separate For
TF 258155 Dgc Steppermotor Type2 For 210
TF 500019 Dgi Flow- En Temp Sensor
TF 500050 Dgi Computer 2 Injector S
TF 500051 Dgi Computer 1 Injector
TF 500055 Dgi Computer 11Sopk1inj
TF 500056 Dgi Computer Unprogrammed
TF 500160 Manifold Connect Zero Pressure
TF 500163 Plug For Zero Pressure Regulat
TF 500202 Overhaul Kit Dgi Vaporizerkit
TF 500211 Sgi Vaporizer As Dgi Replaceme
TF 500214 Vaporizer Dgi Type 2010 Renaul
TF 500400 Built Up Piece Airfilter

500403 Spacer for built Up Piece Airfilter
TF 500404 Spacer For Margin Injector
TF 600001 Sgi Vaporizer With Sensor
TF 600002 Sgi Vaporizer Without Sensors
TF 600009 Sgi Vaporizer With T-Sensor
TF 600013 Vaporizer Bracket/Support 1
TF 600015 Sgi Vaporizer Outlet Filter
TF 600016 Sgi Pressure Adjuster
TF 600017 Sgi Vaporizer Filter Kit
TF 600018 Sgivap.Wateroutl.600362+0-Ring
TF 600019 Sgi Vaporizer Accessory Kit
TF 600020 Sgi Vaporizer Coil Shut-Off Valve
TF 600021 Sgi Shut-Off Delay Unit
TF 600025 Sgi Pressure Sensor 0-2.5 Bar
TF 600028 Sgi Vapox84 K4M 8200611915
TF 600040 Sgi Injector 4 mm (1.48 G/S)
TF 600050 Sgi Injector 5 mm (2.07 G/S)
TF 600062 Sgi Injector 6 mm , > 500 cc / cyl

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41
47506 NEUKIRCHEM-WVLUYN
- ) PHOoNE: +49 (0) 2845 207729
d Fax: +49 (0) 3212 pDRIVE 99 ODER +49
r‘vean save (0) 3212 37483 09

MoBIL: +49 (8)}163 733 58 11

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME



TeleflexGF/

Ersatzteilliste

Articel No. Description
TF 600080 Sgi Manifold Connector M14X1
TF 600090 Sgi Fuel Rail 4-Splitter
TF 600091 Sgi Fuel Rail 3-Splitter
TF 600092 Sgi Fuel Rail 5-Splitter
TF 600093 Sgi Fuel Rail 6-Splitter
TF 600100 Sgi Computer Type 1
TF 600107 Sgi Computer Type 2
TF 600108 Sgi Computer Type 3

600109 Computer EZ Type 3
TF 600111 Sgi Computer Type 1 S.A. (Lano)
TF 600117 Sgi Wiring Harness Ez
TF 600119 Sgi Wiring Harness 2X Type2 4-
TF 600121 Sgi Injector Extension Wire
TF 600122 Sgi Additional Disconnection W
TF 600123 Sgi Additional T-Sensor Wiring
TF 600124 Sgi Wiring Harness 1.U.Max.8Ci
TF 600125 Sgi Wiring Harness
TF 600127 Sgi Wiring Harness Type 2
TF 600129 Sgi Wiring Harness Type 2 Max.
TF 600131 Sgi Interface Unit 4Cyl+Map
TF 600136 Sgi Interface Unit 4Cyl+Map
TF 600141 Sgi Interface Unit 8Cyl+Map
TF 600150 Sgi Fuel Selector/Indicator
TF 600151 Sgi Fuel Selector/Indicator
TF 600152 Sgi Beeper Pmb 23 F
TF 600153 Sgi Fuel Selector/Indicator
TF 600154 Sgi Fuel Selector/Indicator
TF 600160 Sgi Interface Support Universal
TF 600161 Ecu T2 Interface Support Universal
TF 600190 Sgi Fuel Rail Support 20 Mm
TF 600200 Sgi Vacuum Hose 5 Mm
TF 600240 Sgi Vacuum T Splitter 6-4-6
TF 600250 Sgi Coolant Temp Sensor
TF 600251 Sgi Ring For Sgi Coolant Temp
TF 600252 Sgi Coolant Temp Sensor Housin
TF 600260 Sgi Connector 2 Pin Sicma2 Fem
TF 600262 Sgi Connector 2 Pin Sicma2 Mal
TF 600264 Sgi Terminal Sicma2 Male
TF 600265 Sgi Terminal Sicma2 Female
TF 600300 Sgi Hose Connector Injector Si
TF 600326 Sgi Hose Connector Manifold Si
TF 600344 Lpg Vapour Filter Class 2A 16M
TF 600345 Lpg Liquid Inletfilter M10X1
TF 600349 Sgi Manifold Connector Stop M
TF 600350 Sgi Vaporizer Inlet Straight
TF 600351 Sgi Vaporizer O Ring Lpg Inlet
TF 600352 Sgi Vaporizer Inlet Filter

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41
47506 NEUKIRCHEM-WVLUYN
- ) PHOoNE: +49 (0) 2845 207729
d Fax: +49 (0) 3212 pDRIVE 99 ODER +49
r‘vean save (0) 3212 37483 09

MoBIL: +49 (8)}163 733 58 11

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME



Articel No.

TF 600353
TF 600354
TF 600355
TF 600356
TF 600357
TF 600363
TF 600364
TF 600368
TF 600380
TF 600382
TF 600401
TF 605040
TF 605041
TF 605060
TF 605500
TF 605900
TF 605905
TF 605910
TF 610001
TF 640002
TF 640010
TF 640014
TF 640020
TF 640101
TF 640110
TF 640113
TF 640125
TF 640126
TF 640127
TF 640128
TF 641157
TF 9500007
TF 9500008
TF 9500009
TF 9500011
TF 9500014
TF 9500137
TF 9500142
TF 9500143
TF 9500144
TF 135-41182
TF 235000-082
TF 235000-085
TF 235000-090
TF 235080-000
TF 235200-552
TF 235210-039

TMeleflex-GF/
Ersatzteilliste

Description

Sgi Vaporizer O Ring Lpg Inlet

Sgi Vaporizer Outlet Filter

Sgi Vaporizer O Ring Outlet Filter
Sgi Vaporizer Drain Plug

Sgi Vaporizer O Ring Drain Plug
Sgi Vaporizer O Ring Water Connection
Sgi Vaporizer Bolt Pressure Sensor
Sgi Vapourizer waterconnector type 105°
Overhulkit / repairset SGI vapourizer 600
Adaption Kit600009->Alt. Valve

Sgi Petrol Inj.Signal Filter

Sgi Injector Fitting Kit 4 Cyl

Sgi Injector Fitting Kit 4 Cyl

Sgi Injector Fitting Kit 6-Cyl

Sgi Mounting Kit Standard Rear
Sgi Mounting Kit Standard Front
Sgi Standard Mountingkit Front
Ezsgi Mounting Kit 4Cyl (050)
Ez-Sgi Kit Incl. 050 Injector S
Break-Out Box Sgi Interface Unit
Sgi Break-Out Box Kit Type 2
Diagnose Kit T3 USB

Sgi Diagnostic Tool

Break-Out Box Sgi Ecu Type 3

Sgi Break-Out Box Kit Type 3
Ez-Sgi Tool Kit

Ez-Sgi Tool

Dongle Usb

Dongle Parallel Ez-Sgi Tool(64
Dongle Parallel Ez-Sgi Tool & DTS
Muff For Type 1 Ecu Sgi
Dgi-Injector 4/4,7Mm Overhaul
Dgi-Injector 4/5,7Mm Tube Over
Dgi-Injector 4/5,5Mm Overhaul
Dgi-Injector 4/6.0Mm Tube Over
Dgi-Injector 4/6.5Mm Tube Over
Dgi Injector 3/4.7Mm Overhaul

Dgi Injector 3/4.8Mm Tube Over
Dgi Injector 3/5.3Mm Tube Over
Dgi Injector 3/5.7Mm Tube Over
Resistor 560R 0.6W 1% Mrs25

Fill Stop 80% 650-52Gr H=200/220
Fill Stop 80% 600-52Gr Ring

Fill Stop 80% 200-90/70125

Knee Automatic Fill Stop

Fuel Indicator Livello 200 Ring
Electrical Sender OL-180V

driveandsave

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41

47506 NEUKIRCHEM-WVLUYN

PHOoNE: +49 (0) 2845 207729

Fax: +49 (0) 3212 pDRIVE 99 ODER +49
{0) 3212 37483 00

MoBIL: +40 (8)}163 733 58 11



Articel No.

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

235210-095
235210-115
235210-125
235210-126
235210-150
235210-151
235210-155
235210-157
235210-220
235210-225
235210-260
235210-501
235210-502
235210-503
235210-504
235211-001
235220-560
235220-770
235230-080
235230-770
235250-770
235270-455
235270-770
235300-455
235360-770
235740-200
235740-220
235770-005
235770-006
235770-010
235770-020
235770-021
235770-022
235770-023
235770-024
235770-030
235770-035
235770-080
235780-001
235780-003
235780-005
235780-006
235780-022
235780-030
235780-035
235780-041
235780-084

TeleflexGF/

Ersatzteilliste

Description

Electrical Sender 95L-5V

Electrical Sender 280L-38V
Electrical Sender 190L-38V
Electrical Sender 80L-2V

Electrical Sender OL-95V

Hall Sensor Fuel Gauge

Fuel Selector Switch

Switch Led + Wiring Loom
Electrical Sender220L-45V
Electrical Sender220L-35V
Electrical Sender260L-40V

Switch Pulse And Hall Sensor
Switch Pulse And Hall Sensor (France)
Switch Puls Resistor 0-95

Switch Puls Mr140 Lpg

Gasket Fuel Indicator Di X Du X D
Fuel Indicator 220-360/62 Duo
Fuel Indicator 220-52 Ring Tank
Fill Stop 80% 230-52 Ceog-1904
Fuel Indicator 230-52 Ring

Fuel Indicator Ring 250/52

Fuel Indicator Livello 270-45

Fuel Indicator Ring Tank H=270 <=52G
Fuel Indicator Livello 300-45

Fuel Indicator 360-52

Tule Ontluchting Long

Tule Ontluchting Short

Filler Valve Straight NI 67R-01 1329
Fill Stop Elbow Gb 67R-01 1329
Fill Stop Elbow NI 67R-01 1329

Fill Stop Elbow B 67R-01 1329
Adapter NI - B

Adapter B->NI

Adapter NI/Fr->B/Fr

Adapter Fr-NI

Filler 90°France / Italy 67R01 2481
Filler stright France / Italy 67R01 2481
Fill Stop 80% Univeral Z30-360

Fill Stop Adapter 7800 Italie
Adapterfill Stop Fr->B

Fill Stop Adapter Acme-Banjonet
Adapter Fill Stop Fr->NI

Fill Stop Mountingflens-Steel

Cap Filler Complete Ib

Wire Filler Polyester Cap

Cover Fill Stop

Cap Plastic It And Fr

driveandsave

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41

47506 NEUKIRCHEM-WVLUYN

PHOoNE: +49 (0) 2845 207729

Fax: +49 (0) 3212 pDRIVE 99 ODER +49
{0) 3212 37483 00

MoBIL: +40 (8)}163 733 58 11



TMeleflex-GF/
Ersatzteilliste

Articel No. Description

TF 235780-090 Cap Brass Complete

TF 235790-019 Gas Tight Housing Altindag

TF 235790-020 Gas Tight Housing Left/Straight

TF 235790-029 Stop Nylon M32

TF 235800-003 Clutch Shaft

TF 235800-004 Cover

TF 235900-010 Die Switch 35X23

TF 235900-011 Die Switch 28X18

TF 236000-197 Inletpipe M16X30Mm

TF 236100-000 02 Valve + Motor

TF 236100-001 02 Control

TF 236100-100 Stepper Motor With Plunger 22

TF 237177-516 Vacuum Nipple

TF 237289-067 Vaporizer Vg289-R67 Koltec

TF 237392-030 Vaporizer Vg392 + Ring Inv. 1

TF 237392-035 Vaporizer Vg392 + Ring Inv. 1

TF 237392-040 Vaporizer Vg392 + Temp. Sensor

TF 237392-045 Vaporizer Vg 392 Itm6U

TF 237392-046 Vaporizer Vg392 Itm6U + 60Degr.

TF 237392-060 Vaporizer Itm6U Spec.Straight+Temp. Sensor

TF 237392-095 Vaporizer Necam 60Degr

TF 237392-099 Vaporizer Egi Necam Vg392

TF 237392-101 Vaporizer Mega Spec. 60Degr. Uit

TF 237392-105 Vaporizer Mega + Temp. Sensor

TF 237392-106 Vaporizer Mega Spec.

TF 237392-107 Vaporizer Mega + Temp. Sensor

TF 237392-115 Vaporizer Mega Itm6U

TF 237392-116 Vaporizer Mega Itm6U Spec+Rech

TF 237392-118 Vaporizer GSI

TF 237392-141 0O-Ring 5.28X1.78 Viton 80Degr. S

TF 237392-530 Lpg Outlet Koltec V392 reducer
237392-531 O-ring 14x 1,78 vifon 70 gr.sg

TF 237392-532 Vacuum Nipple M8X1

TF 237392-535 Outletb Nipple 60Degr.

TF 237392-555 Outlet Nipple 90Degr. Lpg + Cng

TF 237392-902 Adjustment Nipple M6X6 Complete

TF 237535-048 Adjustment Bold

TF 238000-072 Map Sensor Genl1.5Pn12569241 2

TF 238000-078 Map Sensor

TF 238001-003 Control Unit 02 60Cm

TF 238001-011 Stepper Motor Egi

TF 238001-100 Ms4 Compound 100 Gram

TF 238002-007 Module Inj Replacement. 6X Resistor

TF 238002-008 Module 4X Resistor + O2

TF 238002-009 Module 1X Resistor + O2

TF 238002-010 Interruption Module

TF 238002-011 Interruption Module 3-Points

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41
47506 NEUKIRCHEM-WVLUYN
- ) PHOoNE: +49 (0) 2845 207729
d Fax: +49 (0) 3212 pDRIVE 99 ODER +49
r‘vean save (0) 3212 37483 09

MoBIL: +49 (8)}163 733 58 11

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME



Articel No.

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

238002-012
238002-013
238002-014
238002-019
238002-023
238002-026
238002-028
238002-031
238002-033
238002-039
238002-040
238002-042
238002-044
238002-045
238002-046
238002-049
238002-053
238002-054
238002-056
238002-057
238002-058
238002-062
238002-064
238002-065
238002-066
238002-067
238002-069
238002-070
238002-072
238002-073
238002-075
238002-076
238002-077
238008-802
238010-001
238013-220
238013-225
238013-230
238013-231
238100-002
238100-011
238121-434
238121-435
238121-436
238121-451
238122-429
238122-440

TMeleflex-GF/
Ersatzteilliste

Description

Module O2 Interrup. + Repl. Sig
Module Inj. Repl. 6X Resistor
Interruptmodule Without "R"
Moduleo2 Sign. Convertor

Rpm Filter

Module 022 + 2X 02

Module 026 Other Resistor
Module Inj. + O2 Replacement
Rpm Filter

Module O2 + Inj. Timing

Module 031 + Coll

Module Inj. Repl. 6X Resistor
Module Purge-Valve

Module 044 + 02

Module 58 X Interface (Gsi)
Module O2 + Mil. Interrup.
Module O2 B593

Module Purge / O2

Module Degr. Inj. Repl 6Cyl
Module KI. 2X O2 Interrup.
Module KI. Purge / Inj. Timing
Module Obd2 Micro-Fix O2
Module Gsi With O2

Module Gsi With Inj. Timing
Module Inj. Repl. Gsi

Module Obd 2 Micro Fix O2
Module Injector Repl. + 4X
Module 58X Rpm Interface
Module Rpm Interface Gsi
Module Fuel Level Interruption
Module Fuel Level Interruption
Module O2 Signal Adaptor
Module Rpm Interf. E Gsi
Gasleak Detector (NL)

Control Unit O2 001-98

Temp. Sensor Clt M14X1.5
Temp. Sensor Vaporizer
Presssure Sensor

Pressure / Temperature Sensor
Usb2.0<->Rs232 Converter Cable
Cd Winmonio2006 Incl.Usbdriver
Filter Element Gas Shut Off Valve
Gasket Ring L14325

0O-Ring 20.35X1.78 As Nr.019
Filter Element solenoid

Shut Off Valve 12V 21-09-Mo-02
Shut Off Valve 12V 2P 80-04-00-1

driveandsave

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41

47506 NEUKIRCHEM-WVLUYN

PHOoNE: +49 (0) 2845 207729

Fax: +49 (0) 3212 pDRIVE 99 ODER +49
{0) 3212 37483 00

MoBIL: +40 (8)}163 733 58 11



Articel No.

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

238200-206
238204-130
238204-135
238204-140
238500-035
238500-080
238500-081
238500-087
238500-112
238500-115
238500-321
238713-001
238713-005
238770-005
238770-010
238900-010
239404-006
239404-100
239404-108
239404-158
239404-295
239404-410
239404-419
239404-513
239404-606
239404-608
239405-005
239407-413
239407-416
239500-001
239500-027
239500-047
239500-086
239770-750
239770-759
239770-900
239770-909
239771-000
239771-009
239771-200
239771-209
239771-250
239771-259
239771-500
239771-509
239771-600
239771-750

TMeleflex-GF/
Ersatzteilliste

Description

Vacuum 3-Way Switch

Relay 12V 20/30A Cb-1F-12V
Relay + Diode Cb1-D-12V-H17
Relay Lsp 24

Wiring Loom Tank Kit Universal
Tps Signal Wire

Extension Rpm Wire

Rpm Filter 47Nf

Wiring Loom Dfco

Relaybox

Pilug for SGI pressure Sensor
Coil 12V Electr. Afnamekraan
Coil 12V 2-Polig Superseal
Afnamekraan El 2P Ss

Electr. Take Off Valve

Omnifit Fd20 200Gr

Petrol Hose 6X12Mm Cong-2101
Hose Hebuflex 0701-06

Car Heater 8X15 12Bar Din 73411
Car Heater 16X23Mm 12Bar Es Zwa
Bleed Tube 29.5Mm

Water Hose 10Mm

Propane Hose 19M

Water Hose 13Mm Epdm
Cupper Line 6Mm Cover 8Mm
Cupper Line 8Mm Cover 10M
Vacuum Hose 5.5X10Mm Contitech
Lpg Hose 8X14 Rubia Klasse 2
Lpg Hose 16Mm Rubia Klasse 2
Cover

U-Profile

Padding 65 mm PE-foam

Anti heat plastic film - mate of 1500 mm x 250 mm

Filler Hose 750Mm Straight-Straight
Filler Hose 750Mm Straight-Elbow
Filler Hose 900Mm Straight-Straight
Filler Hose 900Mm Straight-Elbow
Filler Hose 1000Mm Straight-Straight
Filler Hose 1000Mm Straight-Elbow
Filler Hose 1200Mm Straight-Straight
Filler Hose 1200Mm Straight-Elbow
Filler Hose 1250Mm Straight-Straight
Filler Hose 1250Mm Straight-Elbow
Filler Hose 1500Mm Straight-Straight
Filler Hose 1500Mm Straight-Elbow
Filler Hose 1600Mm Straight-Straight
Filler Hose 1750Mm Straight-Straight

driveandsave

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41

47506 NEUKIRCHEM-WVLUYN

PHOoNE: +49 (0) 2845 207729

Fax: +49 (0) 3212 pDRIVE 99 ODER +49
{0) 3212 37483 00

MoBIL: +40 (8)}163 733 58 11



Articel No.

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

239771-759
239772-000
239772-009
239772-200
239772-250
239772-259
239772-500
239772-509
240000-001
240012-260
240012-261
240012-262
240014-204
240111-106
240111-107
240111-108
240111-112
240111-120
240111-130
240111-131
240111-133
240111-134
240111-136
240111-138
240111-140
240111-142
240111-144
240111-152
240111-157
240111-610
240111-666
240111-858
240117-101
240191-178
240199-855
240199-866
240201-156
240201-256
240210-622
240241-046
240241-056
240244-055
240248-022
240248-042
240249-024
240249-044
240400-100

TMeleflex-GF/
Ersatzteilliste

Description

Filler Hose 1750Mm Straight-Elbow
Filler Hose 2000Mm Straight-Straight
Filler Hose 2000Mm Straight-Elbow
Filler Hose 2200Mm Straight-Straight
Filler Hose 2250Mm Straight-Straight
Filler Hose 2250Mm Straight-Elbow
Filler Hose 2500Mm Straight-Straight
Filler Hose 2500Mm Straight-Elbow
Wheel Cover 68Cm

Bold Zk2260-12-1.5

Copper Ring 12.2+0.3-0 15.9
Banjo-Oog Zk77262-12-08

Copper Ring 14X20X4Mm

Water Nipple 3/8 Npt 16Mm

Water Nipple Straight 16Mm 3/8
Water Connedtion Pipe 2X16Mm
Water Nipple 10-13Mm

Inlet Nipple + Filter Egi

Water By-Pass 16-8-8-16

Water Nipple Straight 8Mm

Water Nipple 8.0 3/8" Npt Haak
Water Nipple Straight 10Mm-3/8" N
Nipple Temp. Sensor Clt 10Mm
Nipple Temp. Sensor Clt 16 Mm
Nipple Temp. Sensor Clt 8Mm
Waternipple By-Pass 19-8-8-19
Water T-Piece 16X10X16

Water T-Piece 16X16X16 (40141)
Water T-Piece Black 16x16x16
Water T-Piece 16X16X10

T-Piece Messing 224-6

Water T-Piece 19X19X16

Plug Bzk M10X1 St 5.6

O-Ring Steppermotor

Plastic T-Piece 5X5X5

Plastic T-Piece 6X6X6

Suspension rubber 20X15Xm6
Suspension rubber 20X25Xm6
Knee 90Degr. 1/8" Bi-1/8"

Coupling Nut 7/16X6

Coupling Nut 5/16X6

T-Piece 5/16X5/16X5/16

Nipple 1/8Npt M10X1

Nipple 7/16X20 Unfx M10X1

Inlet Nipple 30

Knee 7/16X20 Unfx 1/4Npt
Wormscrew Hose Clamp 16-27/9

driveandsave

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41

47506 NEUKIRCHEM-WVLUYN

PHOoNE: +49 (0) 2845 207729

Fax: +49 (0) 3212 pDRIVE 99 ODER +49
{0) 3212 37483 00

MoBIL: +40 (8)}163 733 58 11



Articel No.

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

240400-137
240400-139
240400-159
240400-187
240400-190
240400-214
240400-275
240400-408
240400-416
240404-119
240404-136
241400-261
241400-262
241400-400
241400-500
241500-098
241500-099
241500-104
241500-107
241500-205
241504-010
241505-031
241505-114
241505-117
241505-121
241505-123
241505-125
241505-125-1
241505-127
241505-128
241505-129
241505-130
241505-131
241505-132
241505-133
241505-134
241505-135
241505-322
241505-329
241505-452
241505-456
241505-457
241505-458
241505-460
241505-461
241505-463
241505-503

TMeleflex-GF/
Ersatzteilliste

Description

Wormscrew Hose Clamp 25-40/9
Screwclamp 14-9 Zy

Wormscrew Hose Clamp S10-16/9

Hose Clamp 32-48/9

Hose Clamp Cobra 19Mm

Hose Clamp 14Mm Oetiker Stainless Steel
Wormschr. SI.Clamp 50-70/9

Hose Clamp 1-Oor Stainless Steel Stageloss 1
Hose Clamp 1-Oor Stainless Steel Stageloss 2

Mounting Clamp Filler Hose
Mounting Clamp Rsgu 36/20
0O-Ring 23.47X2.62 Viton 70Degr.
0O-Ring 11.1X1.6 Viton 70Degr. Sh
Dfco Valve 2P Connector
Distributor Mega Dfco 2P-S Cla
Injector Aluminum

Injector Nipple Complete
Membrane Dfco

0O-Ring 6.07X1.78 Viton 70Degr. S
Injector Nylon 46

Tap M10X1

Drilling Jig Mitsubishi Outlander 2.0l 16
Drilling Jig Pontiac 3.8

Drilling Jig Opel X20Xev / C18Xe
Drilling Jig Opel Vectra B X18Xe
Drilling Jig Opel Astra G X14Xe
Drilling Jig Opel X18Xe 1

Cylinder Drilling Jig 125

Drilling Jig Opel 222Se

Drilling Jig Opel Z16Se

Drilling Jig Opel Corsa Z10Xe
Drilling Jig Opel Corsa Z12Xe
Drilling Jig Opel Vectra Z18Xe Gsi
Drilling Jig Opel Vectra/Zafira 222
Drilling Jig Opel Meriva / Vectra C
Drilling Jig Opel Meriva Z18Xe Gsi
Drilling Jig Opel Astra H Z16Xep Gs
Drilling Jig Mazda Xedos 6 1.6
Drilling Jig Mazda 323 Bj 18Fp
Drilling Jig Subaru Legacy li 2.0/2
Drilling Jig Subaru 2.5Ltr My '99
Drilling Jig Subaru Forester /Legacy
Drilling Jig Subaru Legacy Outback
Drilling Jig Subaru For. 2.0 My '06
Drilling Jig Subaru Legacy 2.0 '06
Drilling Jig Sub.Leg/For2.0 Mt/At06
Drilling Jig Chrysler Voyager 3.3Lt

driveandsave

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41

47506 NEUKIRCHEM-WVLUYN

PHOoNE: +49 (0) 2845 207729

Fax: +49 (0) 3212 pDRIVE 99 ODER +49
{0) 3212 37483 00

MoBIL: +40 (8)}163 733 58 11



Articel No.

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

241505-553
241505-554
241505-576
241505-585
241505-586
241505-587
241505-604
241505-606
241505-607
241505-608
241505-609
241505-610
241505-611
241505-670
241505-706
241505-725
241505-727
241505-728
241505-729
241505-730
241505-731
241505-782
241505-991
241505-992
241505-993
241505-994
241505-995
241505-996
241505-997
241506-001
241510-002
241510-006
241510-008
241510-010
242000-010
242003-011-3
242003-013-3
242003-015-3
242003-403-3
242003-405-4
242100-802
242100-803
242100-822
242100-826
242200-500
242200-502
242200-507

driveandsave

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME

TMeleflex-GF/
Ersatzteilliste

Description

Drilling Jig Rover 75 2.5 V6 Gsi

Drilling Jig Rover 45 1.8 Gsi / Rover

Drilling Jig Volvo S60 2.4 Gsi

Drilling Jig Kia Joice 2.0l

Drilling Jig Kia Carens 1.81 16V Gsi

Drilling Jig Kia Rio 1.51 16V Gsi

Drilling Jig Daewoo Rezzo/Tacuma 1.8
Drilling Jig Daewoo Tacuma 1.6

Drilling Jig Daewoo Kalos 1.4 8V Gsi

Drilling Jig Daewoo Evanda 2.0 Gsi

Drilling Jig Daewoo Kalos / Lacetti

Drilling Jig Daewoo/Lacetti/Nubira

Drilling Jig Daewoo Kalos 1.4 8V Gsi

Drilling Jig Lada 111 1.5L

Drilling Jig Renault /Opel 1.8/2.0

Drilling Jig Hyundai Trajet V6

Drilling Jig Hyundai Matrix 1.6 Mt

Drilling Jig Hyundai Trajet - Santa Fe 2.0/2.4
Drilling Jig Hyundai Elantra 2.0l Gsi

Drilling Jig Hyundai Accent Gsi

Drilling Jig Hyundai Trajet V6 Gsi

Drilling Jig Skoda Superb V6 Gsi

Drilling Socket 8.5Mm M10X1

Thread Cutting Aligner Short 10.2Mm - M10X1
Drilling Socket Long 10.2Mm - M10X1
Drilling Socket Short 8.2Mm - M8X1

Drilling Socket 6.5Mm M8X1

Drilling Socket 6Mm

Drilling Socket 12Mm

Pons Greenlee 70.6Mm

Drilling Jig Vw Golf Iv 1.4

Drilling Jig Audi A4 1.6 Alz

Drilling Jig Vw Sharan 1.8T Awc Gsi

Drilling Jig Vw Caddy 1.61 8V Gsi

Injector Holder Gsi Complete

Injector Kit 4Cyl Gsi 2.00 Dsd (<325 cc / cyl)
Injector Kit 4Cyl Gsi 2.25 Dsd 8326 - 425 cc / cyl)
Injector Kit 4Cyl Gsi 2.75 Dsd (426 - 625 cc / cyl)
Replacement injector diameter 2,25 GSI
Replacement injector diameter 2,75 GSI
O-Ring Nbr 36624 11X1.5Mm 70Gr

Clip Injector Holder Gsi

Injectornippel GSI / GFI

Injectornippel GSI / GFI injectorhose
Replacement Kit Filter / Splitter

4 way Filter 1 entrance 4 exits to GSI

4 way Filter 1 entrance 4 exits to GSI with SAGEM Pressure sensor

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41

47506 NEUKIRCHEM-WVLUYN

PHOoNE: +49 (0) 2845 207729

Fax: +49 (0) 3212 pDRIVE 99 ODER +49
{0) 3212 37483 00

MoBIL: +40 (8)}163 733 58 11



Articel No.

TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF
TF

242200-509
242200-511
242200-513
242200-514
244304-799
244406-576
246120-004
246121-000
246241-001
246289-111
246289-150
246289-190
246392-250
246400-130
246550-051
246600-803
246600-804
246780-017
246780-018
246780-030
246780-127
246780-128
246780-129
246999-013
246999-014
263230-000
264181-020
270090-045
271135-000
300000-005
300300-011
320000-003
320000-007
600116-002
600116-003
600124-001
600125-001
600127-001
600129-001
600131-101
605040-001
605040-003
699005-003
699080-007
610001-006
610002

610005-050

TMeleflex-GF/
Ersatzteilliste

Description

Filter 16-16 With Bosch Pressure Sensor

Filter With Measurement Connection

Dry Gas Filter Complete

4 way Filter 1 entrance 4 exits to GSI with Bosch Sensor
ECM & Interface unit support

Set for Citroen C4 Picasso

Mountingkit Vaporizer 392

Repair Kit Lpg Shut Off Valve

Repair Kit Distributor

Repair Kit Vaporizer Vg289 Complete

Repair Kit Vaporizer Vg289 Idle Unit + R67 (Old)
Repair Kit Vaporizer Vg289 Low Pressure Unit
Inlet Nipple 1St Stage Valve Complete
Presssure Sensor Mounting Kit

GSl injector montage set

Winmonio 2006 Update
Winmoniodiagnosticsystem2006 Complete
Bajonet Filler Straight

Bajonet Filler Elbow

Filler-House Complete Without Valve

Filler Complete Elbow (B-D)

Filler Complete Acme Elbow (B-D)

Filler Complete Acme Straight (B-D)

Pressure Differential Tool NL

Pressure Differential Tool

Tyre Repair 400MI

Injection hose incl nipple

Viton O-ring 14 x 1,78 mm

Vaporizer Necam H135Hp

GFl Injector 2,75 LPG

Adapter GFl injector M10 x 1 diam. 7 in Cpl

TFX 1.U. MASTER no split fuel + coll

TFX 1.U. SLAVE no split fuel + coll

Sgi Wiring Harness Type3

Gsi Wiring Harness Type3

Sgi Wiring Harness 1.U.Max.8Ci

Sgi Wiring Harness

Gsi Wiring Harness Type2

Gsi Wiring Harness Type 2 Max.

Connector S500

Gsi Injector Fitting Kit 4 Cyl

Gsi Injector Fitting Kit 4 Cyl

Basic Sgi Fk 4-Cylinder

Generic 4 cyl engine kit with 5 mm injectoers
Ez-Sgi Kit Incl. 050 Injector 6 Cyl with 1 vapourizer
Dedicated Ez-Sgi Kit Incl. 050 Injector 6 Cyl with 1 vapourizer
Ez-Sgi Kit Incl. 050 Injector 4 Cyl with Necam Mega vapourizer

DRIVE AND SAVE GMBH B Co. KG
ViuYHER NORDRING 41

47506 NEUKIRCHEM-WVLUYN

PHOoNE: +49 (0) 2845 207729

Fax: +49 (0) 3212 pDRIVE 99 ODER +49

driveandsave

DEXR SPELIALIST rOE ALTERNATIVE ANTHIEESS TSTEME

MoBIL: +49 (8)}163 733 58 11



